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(General Intelligence and Reasoning)

QID : 1-Inthefollowing question, select the related word from the given alternatives.
Person : Biography : : ?: ?

Options.

1) World : Encyclopedia

2) Nation : History

3) Place : Economy

4) Country : Constitution

Correct Answer: Nation : History

QID : 2-Inthefollowing question, select the related word from the given alternatives.
Ramanujan : Mathematician : : Sushruta: ?

Options:

1) Scientist

2) Architect

3) Physician

4) Astronomer

Correct Answer: Physician
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QID : 3-Inthefollowing question, select the related letters from the given alternatives.
EKMR: VPNI : : SIWG: ?

Options.

1) HQTD

2) HMQT

3) HDTQ

4) HQDT
Correct Answer: HQDT

QID : 4 - Inthefollowing question, select the related letters from the given alternatives.
MTBO : KRZM : : RIMD : ?

Options.
1) PHKB

2) PHKA
3) HPKA

4) PHBK
Correct Answer: PHKB

QID : 5- Inthefollowing question, select the related number from the given alternatives.
11:123::12:7?

Options.
1) 144

2) 146
3) 148

4) 150
Correct Answer: 146

QID : 6 - Inthefollowing question, select the related number from the given alternatives.

108: 11664 : : 112 :?
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Options.
1) 12504

2) 12544
3) 13644

4) 17644
Correct Answer: 12544

QID : 7- Inthefollowing question, select the odd word pair from the given alternatives.
Options.

1) Snakes : Reptiles

2) Buffalo : Mammal

3) Kiwi : Bird

4) Parrot : Mammal

Correct Answer: Parrot : Mammal

QID : 8- Inthe following question, select the odd word pair from the given alternatives.
Options.

1) Writer : Pen

2) Doctor : Chisel

3) Plumber : Wrench

4) Carpenter : Saw

Correct Answer: Doctor : Chisel

QID : 9- Inthe following question, select the odd letters from the given alternatives.

Options.
1) AD

2) QS
3) VX

4) EG
Correct Answer: AD

QID : 10 - Inthe following question, select the odd letters from the given alternatives.

Options.
1) HILN
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2) LNPR
3) SUWY

4) EGIJ
Correct Answer: EGIJ

QID : 11 - Inthe following question, select the odd number pair from the given alternatives.

Options.
1)24-6

2) 48— 12
3) 72-24

4) 44 -11
Correct Answer: 72-24

QID : 12 - Inthe following question, select the odd number pair from the given alternatives.

Options.
1) 14-48

2)12-72
3)11-88

4)8-24
Correct Answer: 14 —48

QID : 13- Arrange the given words in the sequence in which they occur in the dictionary.
1. Nested
2. Nation
3. Nippon

4. Niger
5. Nappy

Option:
1) 52143
2) 52413

3) 21543
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4) 25134
Correct Answer: 52143

QID : 14 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Opperate

2. Oyster

3. Oracle

4. Otis

5. Officid

Options.
1) 51324

2) 53124
3) 53142

4) 51342
Correct Answer: 51342

QID : 15- A seriesis given with one term missing. Select the correct alternative from the given
ones that will complete the series.

P,M,JG,?
Options.

1) E

2)C

3 F

4) D
Correct Answer: D

QID : 16 - A seriesisgiven with one term missing. Select the correct alternative from the given
ones that will complete the series.

AA, DB, IC, PD, ?

Options.
1) WF

2) XE
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3) YE

4) WE
Correct Answer: YE

QID : 17 - Inthe following question, select the missing number from the given series.
1, 8,29, 92, 281, ?

Options.
1) 567

2) 628
3) 776

4) 848
Correct Answer: 848

QID : 18 - Inthe following question, select the missing number from the given series.
2,7,22,67,?

Options.
1) 197

2) 198
3) 200

4) 202
Correct Answer: 202

QID : 19- Inarow of cars Maruti is 20th from the left end of row. Honda is 10th to the right
from Maruti and is at the exact center of row. How many cars are there in the row?

Options.
1) 54

2) 59
3) 57

4) 56
Correct Answer: 59
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QID : 20 - Abhinav started running from his house, he first ran for 12 km towards west, then he
turned towards north and ran 16 km in that direction. How far Abhinav is from his house and in
which direction?

Options.

1) 13 km South

2) 13 km North

3) 15 km West

4) 20 km North-West

Correct Answer: 20 km North-West

QID : 21 - Kunal is elder to Rohit. Vivek is younger to Sushma, and Kunal is elder to Vivek.
Who is the youngest?

Options.

1) Sushma

2) Rohit

3) Vivek

4) Cannot be determined

Correct Answer: Cannot bedetermined

QID : 22 - Inthe following question, select the word which cannot be formed using the letters
of the given word.

TRANSPORTED

Options.
1) PORT

2) SPORTS
3) TRAP

4) TREAT
Correct Answer: SPORTS

QID : 23 - Inthe following question, select the word which cannot be formed using the letters of
the given word.

INSTALMENTS

Options.
1) MEN
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2) TALL
3) STALE

4) MENTAL
Correct Answer: TALL

QID : 24 - Inacertain code language, "BANGED" iswritten as"JIKQCC" and "TILTS" is
written as "X XOKU". How is"STRAY" written in that code language?

Options.
1) ZBSUT

2) XZQSR
3) EFUUS

4) DEUVT
Correct Answer: DEUVT

QID : 25 - Inacertain code language, "GRAVY S" iswritten as"DUJVBY" and "BUTLTS" is
written as"WXEVWOQO". How is"SPREAD" written in that code language?

Options.
1) URTGCF

2) PMNBXA
3) VSUHDG

4) USVGDH
Correct Answer: USVGDH

QID : 26 - If "P" denotes "multiplied by", "Q" denotes "subtracted from", "S" denotes "added to"
and "R" denotes "divided by", then which of the following equation must be true?

Options.
1) 7S56P2R28=11

2)36R6P2S4=19
3)64R8P3S6=72

4) 36 R9S4P2=14
Correct Answer: 7S56P2R 28 =11
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QID : 27 -1f "9" denotes "added to", "5" denotes "subtracted from", "B" denotes "divided by"

and "o denotes "multiplied by", then
51869a76142="7

Options.

1) 114

2) 98

3) 84

4) 125

Correct Answer: 84

QID:28-1f17* 36=17and 41 * 56 = 16, then41* 32="?

Options.

16

2)12

3) 10

4)8

Correct Answer: 10

QID:29-1f14$8=91and 18 $4=51,then21$9="

Options.

1) 160

2) 155

3) 151

4) 168

Correct Answer: 160

QID: 30-
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In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

oo vy # T o foreut F ® wy =
(?) & TUA G A drell FEAT A AT

3 5 2 4 9 3
2 6 3 8 2 1
8 1 2 6 i ?

Options.

D1

2)2

3)3

4) 4

Correct Answer: 3

QID: 31-
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In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

T vy # By o7 et & @ uy R
(?) & TAT W A arell T A FAT|

3 4 2 6
2
4 2 2 7

=J
on
o

Options.
1)3

2) 4
3)5

4) 6
Correct Answer: 5

QID: 32-

How many triangles are there in the given figure?

& o1 mpfa A forae e &2

)

Options.
1) 14

2) 16

3) 18
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4) 20
Correct Answer: 16

QID: 33-

How many triangles are there in the given figure?

& 1S s 3 freet gt ¥7

Options.
1) 18

2) 24
3) 26

4) 28
Correct Answer: 26

QID : 34 - In each of the following question below are given some statements followed by some
conclusions. Taking the given statements to be true even if they seem to be at variance from
commonly known facts, read al the conclusions and then decide which of the given conclusion

logically follows the given statements.

Statements:
I. All cups are glasses.
I1. Some cups are pens.

Conclusions:

|. Some pens are cups.

I1. Some pens are glasses.
[11. Some pens are not cups.

Options.

1) Only conclusion (1) and (I11) follow
2) Only conclusion (11) and (111) follow
3) Only conclusion (1) and (11) follow
4) All conclusions follow

COURTESY :

SSC


https://sscportal.in/
https://sscportal.in/

Correct Answer: Only conclusion (1) and (1) follow

QID : 35 - Ineach of the following question below are given some statements followed by some
conclusions. Taking the given statements to be true even if they seem to be at variance from
commonly known facts, read al the conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:

I. No cities are countries.

I1. No countries are villages.

Conclusions:

|. Some countries are city.
I1. No villages are city.

Options.

1) Only conclusion (I) follows

2) Only conclusion (1) follows

3) Both conclusion follow

4) Neither conclusion (1) nor conclusion (I1) follows

Correct Answer: Neither conclusion (1) nor conclusion (11) follows

QID: 36-
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From the given options, which answer figure can be
formed by folding the figure given in the question?

e Reeur & @ @la O 393 sl us
# & 2 el T Az FE =1 o B
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From the given options, which answer figure can be
formed by folding the figure given in the question?

SR e A d T H R o & &
e THIa T ABHT TS S Hebell &7
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QID: 38-

In the given figure, how many papers are also hard?

& 72 3Ta A, ffaa Foe TEg o &2

A\
Brown/sIxT —»/ \
g T
f.f‘I rf"f T\ K\\_
/ f,/ Y, \
/ 15( 9 23\ 1 Paper/
e )
Hard/ges —»| 56 >~ 7
Options.
1) 14
2) 23
3) 37
4) 32

Correct Answer: 23
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QID: 39-

In the given figure, how many keys are duplicate but

not steel?

&1 978 TpTa &, fpae =nfear uldfefr at € afea

TTUTT 8 £7
Duplicate/ 37 43
B
SISIEIE 16 19
18
32
SteelFrard
Options.
1) 16
2) 18
3) 0
4) 34

Correct Answer: 0

QID: 40-

Keys/
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In the given figure, how many leather bags are not
red?

S pfa & THE ¥ fraa 9 w76 ¥

AN
\Q—Bag;@?ﬂ
68\
51 *\.\_\ \\\
19 a2 \29 N l4— Red/aer
35 N\
29 N
Leather/<d=T
Options:
1) 29
2) 76
3) 43
4) 51

Correct Answer: 51
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QID: 41-

Which answer figure will complete the pattern in the
guestion figure?

i | 3o APl U Hpla & Ufdwy Bl g
FLEM?

vy
N ?

Q'—." o i
QID: 42-

Which answer figure will complete the pattern in the
question figure?

i O 3aT HTFHId TH HFd & UawT & @7

FLAN?
?
—
==
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QID: 43-

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% IR PG # ¥ 3F R AEA @ gaw
T # uy wpla BT &

2

]

[P
0
i

1]

()

ﬂgﬂyﬂ HV
=
!

QID: 44-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& TR IR HpaA # ¥ 3H I AGE & gET
orm & wy amela BT &

0
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QID: 45-

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when

opened?

@ F Uy pladl A @ 3EgEr wee @t
AZRT B 9T Wi & a1 I¢ fFH 397 Hea

s fearg 2ome

!
4
'

[y

[2]
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QID: 46-

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & oy Fgadl # B 3gEr Fee @t
ASH Tee JUT Wil & T I fohd 39X Hga
=t e dam?

Nl
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QID: 47-

If a mirror is placed on the line AB, then which of the

answer figures is the right image of the given
figure?

ofg oo gdur & AB @1 T @1 S, & & T
IO Aepfaal F o Hig O gla uy mela &

e uiafasa gefr?
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If a mirror is placed on the line AB, then which of the

answer figures is the right image of the given
figure?

IfE me SUUT @ AB YW@ W @1 ST, At & a8
TaY Mpfadt & & HiF O gfa uy Hgpla H

Ter ufafesa arefre
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QID: 49-

A word is represented by only one set of numbers as given in any one of
the altematives. The sets of numbers given in the altematives are
represented by two dasses of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 8. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘T’ can
be represented by 03, 31, eic, and ‘D’ can be represented by 75, 87, efc
Similarly, you have to identify the set for the word “GHOST"

TH e, hOW Uh GEA-HeE G Ut wmnm ¥ S 6 Rwedt & &
fre v F Ram &) Roedl & Ru v Juaradp Haw) & @ got
gRT gufe are §, St f6 Rw o @) avegel @ ) aege & wae 3k
ufth & dEar 0 & 4 & 3fv eyl H15 3 91 59 wegEl & oF HEW A
ueel 3Eh ufth 3R ag & T g8 eI I ST WAl §1 ST
& fouw T @ 03, 31, nfe arr g =1 §&ar & awr D & 75, 87,
nfe aRT Ui o @dhaT ¥ S oXe ¥ Wum oM & Ry weg
“GHOST” & faw woE & Uga=raT &1

Matrix-1 Matrix-ll
e el
HAENEAEAE: 5[6|7|8]9
O[E|[O[N|[T |G 5|M|[D[H|[S[A
1[T|IN|[G|O|E 6|A|S|M|D[H
2|(|0|G|T|E|N TIDIA[S|H[M
3I[N[TIE[G]|O S8|H|M[D|A]|S
4 |G|E|O[N|T O|S|H|A|[M|D

Options:
1) 33, 57, 20, 66, 03

2) 40, 78, 42, 97, 10
3) 12, 96, 13, 77, 30

4) 04, 78, 01, 58, 43
Correct Answer: 33, 57, 20, 66, 03
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QID: 50-

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two dasses of alphabets as shown in the given iwo
mafrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, “C’ can
be represented by 00, 33, eic_, and ‘O’ can be represented by 56, 88, eic.
Similarly, you have to identify the set for the word “BAKES".

TS eg A T FEA-HHE GRT gt dRm B, Sw & Raed § @
forelt v & fam o %) Boedt § Ry o swargey e/l & @ gai
arT gt orw E St @& Ru aw @ sieggd & ¥) ey B waew sk
gfth it g0 & 4 ¥ 3R gl $ 5 F 9) 577 egEl ¥ TH HEW B
uger 36 Ofth 3R ag § woew e g qutar S a@war ¥ Sge
& faw ‘C” &1 00, 33, g grr gufam &7 wFHar ¥ dw ‘0" ' 56, 88,
fg gR1 gutar S W& B S aiw & mum um A Ry g
“BAKES” & Tu @afp & ugai=i=l &I

Matrix-| Matrix-ll

e el
0111234 516|789
O|C|IR|B|K|S S E|O|JU]|A]I
1|S|B|K|R]|C 6|A|]I|O|U|E
2|R|C|S|B|K TIO|E|JA]T]|U
J|IK|S|R|C|B g8/ 1|UJE|O|A
4 | B K|C|S|R QIUJA|T]|E|O

Options:
1) 11, 65, 03, 55, 20

2) 40, 77, 24, 76, 32
3) 34, 96, 41, 87, 10

4) 02, 58, 31, 88, 04
Correct Answer: 34, 96, 41, 87, 10
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